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PAPER 2 MARKING SCHEME 

(a) The effects of global warming are melting ice caps, rising sea levels, species extinction and climatic 

change.(4 marks) 

(b) The main cause of global warming, according to the passage, is carbon dioxide from fossil fuel 

emissions.(2 marks) 

(c) Britain encourages people to use renewable electricity by making it very easy for people to switch to 

renewable sources.(2 marks) 

(d) Problem is too vast for individuals, Big businesses have no incentive to solve it, Government officers 

fob off their responsibilities. (3 mks. Must be in note format. Deduct ½ mark for prose) 

(e) An ordinary reader would not be blamed for wondering why he or she has to reduce on driving while 

industries continue to emit a lotof CO2. (3 marks: Candidate to introduce at least 3 synonyms) 

(f) The writer communicates the message that, while pollution is a life-threatening issue, the 

approaches to resolving it are ineffective. (2 marks) 

(g) (i) fob off — to avoid/make excuses 

(ii) Incentive — a thing that motivates or encourages someone to do something  

(iii) Calamity — an event that causes greatdamage(3 marks) 

 

QUESTION 2: SEEN TEXT- A DOLL’S HOUSE 

 

1. Before the extract, Helmer puts his arm around Nora‘s waist (1 mk) and calls her an example of 

little people who are spendthrifts ( 1 mk). After the extract, Helmer reminds Nora about the 

previous Christmas ( 1 mk) where Nora shut herself up every evening making ornaments (1 mk). 

2. Nora refers to herself as a skylark andsquirrel (2 mks). This alludes to her sense of happiness 

and hyperactivity (1 mk). 

3. He is referring to his new job at the bank. ( 1 mk) 

4. That financial mismanagement (1 mk) affects both men and women ( 1 mk). Very like your father 

( 1 mk) ….you always find ways of wheedling money (1mk) 

5. Discourages her from eating sweets (1 mk). Because of mention of Miss Sweet Tooth (1 mk) and 

nibbling sweets (1mk). 

6. He is hospitable ( 1 mk) for planning to invite Dr. Rank ( 1mk) and also optimistic ( 1mk) because 

of mention of big income and safe appointment ( 1 mk). 

7. This happy mood ( 1mk) changes to become somber ( 1mk) after Helmer discovers Nora‘s secret ( 

1mk). 

8. – Make me use money carelessly 

- Shop that makes or sells sweets. 

- You promised. 

 

 

 

 

QUESTION  3:  LITERARY APPRECIATION(20 marks) 

Famine 

 (a) The poem is about an encounter between twoneighbours during famine.  One of them hasfood that 

he  



 Compiled & distributed by Schools Net Kenya, P.O. Box 15509-00503, Mbagathi – Nairobi | Tel:+254202319748  

E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com 
  

stubbornly refuses to share with hishungry ‗brother‘(2 mks) 

 (b) The neighbour hopes that by being persistent,the owner of the yam will relent and give him 

some.  Although the owner denies everything,the neighbour shows him he knows that he (the 

owner) is refusing to own up the truth whenit is so obvious.  The neighbour also hopes toprick his 

―friend‘s‖ conscience.  He hopes thatguilt will force the owner of the yam to share the yam.(3 

mks) 

 (c) The owner of the yam is:- 

  (i) Mean / selfish - inspite of the efforts the neighbour makes, he refuses to share his food. 

  (ii) Innovative /schemer / creative - He formulates quick answers to counteract what his 

neighbour says. (4 mks) 

 (d) The ideophones words are ―kerekere‖ and ―bi‖. (2 mks) 

 (e) The neighbour is very observant because henotices things like fire and associate it with themeal 

the owner  

wants to prepare.  He alsonotices the owner‘s ―skin‖ is ―all white‖ of course the whiteness is from 

the yam peelings.  The owner of the yam refutes everything.  But the owner is not fooled. (3 mks) 

(f) Bitter, dismissive - There cannot be peace ... ( 1 mk) 

(g) The statement ―Peace be with you‖ is ironic because the neighbour is probably being sarcastic.  

He cannot be wishing somebody whohas denied him food peace.  He has made the owner of the 

yam guilty.  A person with a guiltyconscience is unlikely to have peace. ( 3mks) 

(h) We learn that we should share what we have with the needy.  When we don‘t, we cannot have 

peace with ourselves or others. (2 mks) 

 

QUESTION 4 GRAMMAR 

A.  

(1) independent of 

(2) a little 

(3) rang 

B.  

(1) Under no circumstance would my father allow us to attend night parties. 

(2) The visitor spoke for one hour, however,I did not understand anything he said. 

(3) cancelled 

C.  

(1) into 

(2) by 

(3)of 

D.  

(1) Naliaka, who is very good at grammar, joined our school this term. 

(2) The elephant, which is a very big animal, is also very strong. 

(3) Having been left on the whole night, the generator broke down in the morning. 

E.  

(1) flight attendant/ cabin crew 

(2) gander 

F. the act of flying a plane can be dangerous 

-Planes that are flying can be dangerous 

 


